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COM 2C08 : Costinq for Management Decisions

SECT ON -A

Answeranylour questions in lhis secilon. Each quesiionca(les 1 markfor
Parr (a)3 markslor Pair (b)and s marks lor Pad (c).

I a) whatdoyou underslandby costconlrol?

b) Whal arelhe elements oicostconlro scheme ?

c) Brietlyexp a n coslconlroltechn ques

2 a) Deiin€ dilfe renlia! cost

b) Disiinguish belween ditie renl al cost analys s and marginalcosung.

c) Al presenl, a company is working at 90% oi iis capacity and prodlcing 1 3 500
unils per annum lls budoel discloses lhe 10 owing dala :

wh 100%

Fs. Rs.

1) Sales 7,s0,000 8,00,000

2) Fxed exp€nses 1,50,250 1,50250

3) Sern fixedexpenses 4a75a 50,250

4) Unils produced 13,5!0 15.000

5) Varlabie expenses 72,5A0 74750

Labou. and malera cosls per unil are consianl !nderthe presenl condilions.
Proiil rnargin 10%. You are requ red to determ nelhe diiferentia cosl ol produc'ng

1 500unirsbyincreasligcapactylol00%.
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3. a) What s inlerocked budgels ?

b) State obl€ctives oi budgelary conlrol

c) Poinl oui ihe ral os wiilr which lhe managerlrenl can jLrdge ihe perforrnance oi
lhe budgetarycontro.

4. a) Defineoverhead varian.e

b' BIet \ o,p.orn d'ho pn.\
. ca Ldtep,p4.dlIa /drid, d101tr-ro.o{,q

Standa.d outpuliortheyear 4000 units

Actua ourput tor lhe yea r 5000unils

Slandard variabie overhead Fs t6Ooo

Actua var able overheads Fs 19400

5. a) WhatdoyoLr mean bymarg n oisaiely ?

b) Expla n lhe merhods used bylhe managenreniio tncr€ase marg n ot saiety
c) Caculate the protits tronr lheJo owing:

a) L4arginofsafely Bs 30 0O0and p^,/ rario?0%and
b) Sales Bs. 10,000 margin of salety 3Oo/" and p,ry rato20%.

6 a) Whatls Bascsland.rd t
b) Distinguishbehveencoslcenrreandprotitcentre

c) Explainieallresotvariancecaicuaiions (4x9=36)

SECTION-B

Answ€rihe two quesUons in thjs Seciion Each queslon caries 12 nrarks.

7 a) Expla I drtlereft lechniq!es ol costing. On whar grounds cost accounl ng is

OF

b Ds.Ls5 bac..-d.d-rer -1 \o'-dq,norro-r1q Star, d(p."nt rerhoos
lorlhe calculation ofm:r. n:r..<r
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8. a) A Lld. noiices lhai whil€ the cosi of rnaklng a components is Rs. 20, the same
s availab e in lhe markeial FIs. 18 wlth an assurance oi regular slpply;Give
your opinion to make il or buy lhe componenl. The cosi infonnation is as

7.00

800

l\,4aterial

Variable expenses 2.OO

Fixedexpenses 9!Q Fs.20.00
i) Whal will be your advise, if ihe supplier reduces the price from Fs. 18 lo

Rs. l6 ?
ii) Overand abovelhe cosilactorwhal points should also be considercd belore

iaking ihe make or buy decision ?

OB

b) From the dala given below, you are required to compute vadable oveftead

Slandard Actuat

Production 2500units. 2,000units

Labour hours per unil 2 3

Tolallabourhou6 5,000 6,mo

Vaiable overhead Rs.10,000 Rs. 10,800

12x12=241


